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BERBEHE N IEIES
RBELE—EX BRI BUR £
85 F [BRiki5] WA I BERE b 3Rikis
14 2 fi 3 i 41 5 fi 6 fi 7 i1 8 fir
A/8 # B BE K2 TR it BERE it BERAE it BERAE L BREREFE iR BREAFE 2 R BEKE/FE R BREE/ARE i 8%
6/19 |BF Hep Bi%(2) 11. 63| &1L &EX(3) 11.64 7 Q) 11.65/ 1L EA (3) 11. 68| i 1£(2) 1. 71 28 AA%E (3) KETEE— 11.78 {#ik 1 Q) 11.79
100m B 18y JBHET ERMERA 2%t " 1A ®3) 15 R I R Eoxid
B #Q)
AF
6/19 |BF ED B Q) 22,71 KRN KO 23.37 R B&H Q) 23.55 1uO & (3) 23.69|K#5 A Q) 23. 13| 28 44+ Q) 23.84 ILF BH(3) 23.87 g Mt (3) 24.05
200m HER M RN ER Hif Il TAYF47TC tEEm #Il
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1500m bt e £2324 Gl HiR 2R INER B
6/19 1EBF +1.6 153 HEF (1) 19.51048 HREQ) 20.66 &HiE #twe (1) 21.67 | sh#k EFH (1) 24.92
100mH (0. 838-8. 5m) FHiR 13 13 13
6/19 |BF hR BEIK Q) 14.72| Bl EX Q) 16. 00| &k 1538 (3) 16. 145K %8B (3) 17.06 Bk R4 (3) 17.83 &k £% (2) 18.00| =K fERM (2) 18. 08| LLA #4545 (3) 18.20
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M #&4% (1. 500kg) e ME EHRL ITpul [ & 3 [ & 3 £2324 [ & AR
6/19 |BF AH R&Q) 48.64 EF 1R () 47.97 5@ BF Q) 44.28|thEF B (3) 44.19 A BAE (2) 40.83 B MiE () 36.04 BTH K% (2) 35.40 HE —IE(2) 34.04
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GREE [6B198 _ [11:30]
100m
RHEHFEEE(CR) 10.85 FE BEE B 25 4t &5 2000/07/09
R B
[ 148 BE +2.7 [ 248] & +0.7
JE| b-¥| No. RA &k {#%E |IE L-» No. K £ RA ek EE
1 6 4572 Edh BEEE(2) 11.63 1 8| 5420/F 1L EXK Q) 11. 64
a0 Yavy 5@ THY Yavs 12 4 [F
2 1 7053 #:& R (3) 11.65 2 7| 4484 He # Q) 11.79
= VIVED] AEET 4th A HF
3 77490 Lk EA Q) 11.68 3 2 5472 %0 ZXKER Q) 11.92
AV AE D IEPNTIEL A D8FAT Yy EHERE
4 8| 6641#\2 1% (2) 1.7 4 1) 5290 L% EERF(3) 12.00
WD 1y 28t 91/ t4h B LUk R
5/ 4] 6889 tx& RA%(3) 11.78 5/ 6 7781|&%E M (3) 12.12
7 MEF KETE— 931y 34 JKER
6| 9 64797 #E (3) 11.78 6 3| 6834 Il BAH (3) 12.16
N 79N ERILE WA D4 BE
7| 5| 5815 FRAER(2) 11.82 71 4] 4292 Je4t |ES (3) 12.29
IV Yansny BIHR 345 h4t4 INEER
8 3| 7491 & @z (3) 12.35 8| 9] 7045 E18 £ (3) 12.48
ThY 99 v/ EXRMIBRA Y Yavry /A
20 7970/ LA #F@3) 5 6506 1IN #ERE (3)
Y F =¥ DNS Ar9F Thah ERILE DQ (FS)
[ 34A] REE +2.7 [ 448] REE +2.3
JE[ b-v] No. K £ RA gk {#%E |IE L-» | No. K & RA ek EE
1 8 6646 K& Q) 11.92 1 6| 5744 {REE Q) 11.79
452 4hh Ex:4t 1M 4 Bt
20 7 8241 i®H £33 (3) 12.06 2| 5] 5318 /h#k EEIA ) 11.85
#h4 v Dk W yy Iy BRI R
3| 4] T108i=miE BE(2) 12.06 3| 9 6648 BH BN Q) 12.00
Y EpY LA bh° VLT hvAf Ex:4t
4 3 7588 £H £@) 12.15 4 2 7998 FEX FH Q) 12.17
414" (b [if] 2 75 &R 7HE =]
5 1] 6280 B&X Bi# (3) 12.17 5/ 7| 5061 L& = (3) 12.20
FEL I A B HET 3 £ )1y mE
6 9 6469 iy =KX 3) 12.30 6 4 4283 &R BYE(3) 12.22
159% hth I5a 7547 )7 INFEER
70 5| 7364 &4t @B (2) 12.36 70 3 8111/l K#EQ) 12.25
ISEEUL =30l 1707 4 1% ik
8] 2| 8312[M® £E®) 12. 44 8| 8| 5484 FnA =#E(2) 12.33
909 Yy )il 05" YY1y EHERE
6 6477 &5 1 (3) 9 11 7294 2ATA EEHH (2) 12.95
ANy b ERILE DNS hRa’ 9F 14t ZEF
[ 5] &EE +1.3 [ 64] REZE -1.5
JE[ v-v] No. K & RA &k {#%E |IE L-» No. K £ RA ek EE
1 4] 5751 #&IL T2 (3) 12.08 1 8 6478 £/ #%& (3) 12.28
IWY Uty Bt kY h5 1t ERILE
20 7| 8328 5#EL(3) 12.16 2| 4] 6662 5% & (2) 12.37
11 3 il 1/ % 250
3 3] 8237 kM mE=E() 12.30 3| 6| 66731k EE®3) 12.45
918" W1k Diist #9453 BE
4 8 71351/ KA #@Q) 12. 31 4 5 7346|2MH BIEQ) 12.58
9% 940 =30l h3% h4b =30l
5/ 6 7202/ HtE EF—ER(2) 12.46 5/ 3| 5810 =i EEAEA(D) 12.70
Ny YAy EH WD vavhng /) HE
6| 1) 5475/8F% ®AQ) 12.50 6 7| 7770 &£ Fi¥EO3) 12.80
NSRRI EBEL AT VA mEAE
7 2 6647 HHE X#0@Q) 12.58 7 1) 7235 #8%F ZEEA (3) 12.85
a8 3L 2841 vyh3 EhER =%
8 5 T122 #t# @3 (2) 12.63 8 2| 5110 B *x% (2) 12.98
L34 19b B Ak Ay 334 hEF
9 9| 5495/ch:E A&I(1) 12.65 9 5756 FHE H#K(2)
549 vy EH R b 4D PEIE DA (FS)
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[ 7481 &ELE +0.5 [ 8481 RELE +2.3

JE| b-Y| No. K £ E& ik = | IE V- No. K £ E& ek EE

1 3 T177 B3 1HABER®Q) 12.20 1 1) 8001 A+ #—(3) 12.64
yh' a9y g mEhm ath 194F Hif

2 4 8133|/\E H175(3) 12. 21 2 8 5401 Bk %3 (3) 12.72
v AVILE FIBEER ghy" T ank HNET

3| 7| 5479 ImERE 2AX Q) 12.29 3| 5 5339 K BEFQ 12.84
4y ans EEHRAR A BRIl

4 2 5752k REEA®Q) 12.65 4| 9| 6852 H¥r HI¥E(3) 12.86
#14 a9yay Bt 1V77 9% g

5 1) 674415 #1f(2) 12.89 5/ 3] 8103 ##+f K (3) 12.89
viNg 19% =% 7Y L3 44y FIBEER

6| 6 6443/ A1) 12.93 6 4 7430 TR EAQ) 13.02
N i 7929 NG b EZ Y2

7 5 7035/)IlE &%1(2) 12.96 7 2 6745 kR BER(2) 13.10
783 19h /A TH¥N5 740 =i

8| 8 5921 =45 FE(2) 13.12 8 6 6640 FB HTEQ 13.16
ahny v =i IV 84y Z34

9 9 7496 &A@ &EE®Q) 13.37 7/ 6383 ¥ Ki#E(2)
Hvs MIF EXMERAR th) 5 1% BR DNS

[ 948 AE +1.9 [ 1048] REE +2.0

JE| b-Y| No. K & E& ik = | IE L-» No. K & E& ek EE

1 1) 8222 /M# ZE K (2) 12. 31 1 8 5414/Z1@A [E(3) 12.32
9 74 ik 7Y% 453 HNET

2| 4 8216 B =KX (2) 12.82 20 7] 7437 B%E K (2) 12.40
HhY° v 194 =H En Y 8 AF 7327

3| 7| 6830 HE 4 4K (1) 12.85 3| 2| 6487 HA BHO3) 12.72
tht o st =) I ERIEE

4 9 7365 [51E sk (2) 12.96 4| 9| 6797 LI #iiK (2 12.79
g L #) WYY 394 el

5 2 4089 ZEH EFi(1) 13.08 5 6 7254 /hER BBAS (2) 12.98
A k) iR ' vy aven REF

6 5 7352 41l 4=t (3) 13.12 6 3 5753 &S HiA (3) 13.20
949 1%y I A" Yanv Bt

70 6] 5920 2R St (2) 13. 45 7 1) 8311 #F L ®i#E& Q) 13.20
w47 N =i THEY LYY g)i|

8| 8| 7600 A+ (2 14.59 8| 4 5159 =45 HI1E (2) 13.46
Thi3 Yavtd &AL &R LY IVVEVES =it

3 8062 /hE FZ=(1) 5 7848 T Fik(2)

AR &) EEH DNS A3 Uty Rig DNS

[ 1148] REE +1.3 [ 1248] REE +1.3

JE| b-¥ | No. K £ E& ik = | IE L-» No. K £ E& ek EE

1 3 7435 EK B Q) 12.48 1 1) 6504 R ME Q) 12.84
VIR vty 7327 yH D e ERILE

2| 9 6867 fkf KaE3) 12.70 20 3 4131/ b SRA(Q2) 13.16
Thhs 44/ KETEE— ary top AL

3 11 6486/ 7T & (3) 12.82 3| 6 8063 B4 B (1) 13.19
4% bEE ERIEE Jh3 nb FE

4 4 7868 ML #HFE(Q3) 12.87 4| 7| 6496 EBr FRFA (2) 13.20
LAY 3984 Rig J4h bEE ERILEE

5/ 7| 7206 FIER N (2) 12.89 5 5| 6633 28 @A) 13.31
FA b EH Y E U9 Z34

6 2| 4030 FHE 2£ () 12.91 6| 8 6380 43 HR(2) 13.34
¥ng a9t4 AL -4 (12.908) 9930 bt BER

70 5] 8163 yiE (D) 12. 91 T 4 6441 thEA HEE(2) 13.42
TH 9 19 5= (12.910) 1% E7 % B

8 8 4293 Jb&t ZEiHE(2) 12.96 8 9| 7654 #aA 1&EE(2) 13.49
1945 7H4 INEER WEF 9% FESE

9 6 8000 EH #46(@3) 13.12 2| 4607 @ RLE Q)
918" Yy Hif a1 Yavtq tEE= DNS
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[ 13#48] &ELE -0.1 [ 14%8] RELE +1.5

JE| b-¥ | No. K 4 E& &&= |JE V- No. K E& o I ]

1 9 8167 w&H KM 13. 21 1 6 5762 A E=E(2) 13.26
Y A4 5= TEF I4b 71

2| 4] 6470 nEk HME 2 13.29 2| 5 5300/ EIE Q) 13. 41
hhy vana’ ERILE gy en/7 B L3k R

3 7 6687 @&lR RAC (1) 13.29 3 7 7158 EHd BE (2) 13.45
7V N5 b B a0 Y% [1TEy]

4 5 5161 i@ & (1) 13. 36 4 1] 6730 fg@ £4£ (1) 13.52
1% =it 1149 at =4

5 1] 5928 &+t =#t(1) 13.47 5/ 2/ 7059 #\& B (2) 13.54
NIV VE =iE W B( JEET

6 2| 8096 fEIFLE H (1) 13.60 6| 8 7123 FHE k(2 13.96
1N b #B EVZ M VA BARK

7 8 72371\ KIEQ) 13. 61 7 4 8061 #RE ¥ (1) 14.55
MY 19 =% 14¥°3 Y39 EHER

8| 6 7956 FT FEi(2) 13.66 8| 3| 6746 FH JEQ 14. 96
79547 f4t R% 734 Yavh’ =%

9 3 6442 7fIN EKER(N) 13.72 9 7166 HE #hk(1)
4r9F amhng s PRI Wia DNS

[ 15%88] RELE +1.9 [ 1648] &ELE +0.3

JE| b-¥ | No. K 4 E& &&= |JE V- No. K 4 E& o I ]

1 2 8243 #H EZ2 () 12.52 1 77208 LA #EAK(2) 12.97
YV ik AL MDY =%

2 1 7296 =@ 3 (2) 13.33 2 5 7432 BE#E #EK Q) 13.07
395 49b ZEF T 194 E2 Y2

2| 8 6678 R&aJI EL(Q2) 13.33 3 1] 4493 #MIl 1EF (1) 13.39
o W] B BT YA AFIL

4| 4 7709 BRER #B— (2) 13.56 4| 4 6298 E£1E =K(1) 13.54
Ny b ERAR LA 9IN % 294 4 AEHE

5/ 3| 7280 il #E(3) 13.56 5 9 7991 {&# BBAQ) 13.55
W Y1y ZEF i 394 HiR

6 5 6982 A% £& (2 13.58 6| 3 7209 B# KRE(Q) 13.57
arh Yoy bz 42| T 299 =%

7 6| 7119 %M EE(3) 13.64 70 2] 6979 ¥iE EHF(2) 13.74
)4 Y39t B R THOHD Ea9h SEE

8 9 7220 FFitE FEAER() 13.92 8 8 8209 /pARE Q) 13.76
10N y94a9 =% ™Y n =H

71 7036 /pk = (2) 9 6 4667 lLT EA() 13.95

Yy 3t /A DNS 4 huh LT HEEEM

[ 1748] &ELE -0.3 [ 18#A] RELE +2.2

JE| b-¥ | No. K 4 E& &%= |JE V- No. K 4 E& i wmE

1 3 7225 /MERiE (1) 13.34 1 9 7257 &iD B (2) 13.26
149 W =% D53A° Y4t SHEET

2| 8 7055:EH HF(2) 13.46 2| 2] 6295 EE MAH(2) 13.58
s W JEET 0549 In AEHE

3 9| 8229 &R 1&A (1) 13.52 3 7| 6497 RE HEQ) 13.82
7Y th a9b ik vt Va9t ERILE

4| 2| 5338 {kik IRE (2 13.55 4 3] 7441 WLW=E HK2) 13.87
#h9 299 BRIl Yhn Y94 4 EZY2

5/ 4] 7041 =) W@WE (1) 13.64 5/ 8 8201 /MU KA(3) 14. 11
EN VIV LK /A Y 4h° =H

6| 5 8223 AfEMO EZE(2) 13.66 6| 5 6476 L& BEAQ) 14.24
R hF 4T ik £ Ak ERILE

7 7 8318 ET EA(2) 13.90 7 4 5169 K% tE=2 (1) 14. 44
Y8 /e Bl 33/ tnaf =g

8 6 8162 dh#t 3w A (2) 13.92 1 7367 &R BiE (2)
Thhs 49t Ea 2049 Vit )il DNS

9 1] 6657 Z4EE 1 (1) 14.03 6/ 7973 2 AMABEA()
YN b 234 7993 Yav4ng RE DNS
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100m

[ 1948] RELE +2.5 [ 20#4A] RmLE +1.3
JE| b-¥ | No. K £ E& ik = | IE L-» No. K £ E& ek EE
1 6 8235 ®big k®(1) 13.16 1 4) 6888 KM BENE Q) 12.17
AN 35V DIk Ly BVEVES KETE—
2 4 5390 & B® (1) 13.18 2| 9 8126 FiE K% (2 13.45
79" 47 a4b HNET 109 244 FIBEER
3| 5| 7090 EE #EA (1) 14.10 3| 8 5359 =¥ EH() 14.03
ying 94 wne ah4 b AR L
4 16299 =@ B=(1) 14.12 4 2 8094 EFFIL E={Z(N) 14.14
AR L)) A EHET 9I/¥Y AVh #B
5/ 9] 7646 41U #EBA (2 14. 51 5 11 7019 %7 E248 (1) 14.16
994Y 31b AL I 9h 7Eb &8
6 8 8191 FEXR HE() 14.72 6 7| 5393 HE B4 () 14.19
h3% F9n'4 =H s HNET
7 3| 4573|/hith EZE(1) 15.78 7 3 7221 /R mE ) 14.48
2 M7 BEHY57 A IVEVEY EE
2| 5924|500 FHE(2) 8 6 5761 FLU BEE (2) 15.02
E7 F 7A =i DNS YEYY nbF Bt
T 4399 ;¥ #HE Q) 5 7222 fhIl HE()
Il 4% ELES: DNS T 9 FHb g% DQ(T1)
[ 2148] &ELE -0.4 [ 2248] RELE +1.2
JE| b-¥ | No. K £ E& ik = | IE L-» No. K £ E& ek EE
1 2 8815 #AK KX (Q) 12.59 1 3 8027 #xF ZKEAI(N) 13.50
VUL PL) LTHE— Y4 19409 HiR
2 4 8023 &+ #E(1) 13.77 2 4/ 7054 /hE BR—ER(2) 13.55
ANy 743 Him 3 yn4Fan AEET
3 6] 8232 HE fEz (1) 13.90 3 1) 7205 %% A2 14.09
4h/ JY1% ik Y/ Yy EE
4 7 4781 =M@ &) 14.26 49 5917 182 M3 (2 14.12
b3 192F EA 449 790 =iE
5 5 6732 that K#h (1) 14. 36 5 5 8324 XL EEIR(1) 14.43
This 4 1% =8 EE S EaVAEVAL ] g1
6/ 1 7040 =8 {HA Q) 14.53 6 7| 8018 n-7 4- T4747(1) 14.53
WY ays /A 0-7 4= 74747 |E&§
70 9 5494 =# B () 14.84 70 20 7091 B BHA) 14.87
b4 AR EH R A543 74H wne
8| 3] 6985 /hEFH BEAF(1) 15.12 8 6/ 8701 & F M) 15.27
2474 49 bz 42| NEYY Y39 1Bl
8 5113 ¥k #h#E (1) 9 8| 8199 =ik aE(1) 15.50
vy thEFF DNS 19h Yav% E2H
[ 23%8] RELE +0.4 [ 24%8] RELE -0.3
JE| b-¥ | No. K £ E& i = | IE L-» No. K & E& ek EE
1 7 7382 #8A Kb (1) 13. 81 1 1 4334 k@ £33 (2) 12.15
9AER B 4Y JRH EL RS IR
2| 5| 6666 BEH FNE (1) 14.35 20 9 7380 %E 3hk(1) 13.82
h34 HR° ¥ 28 TH#h E03Y JEH
3| 8| 4665 @F @A (1) 14.38 3| 5 7383 BE Fx() 14.05
Yb ans L HEM 4/ hix JRH
41 1] T2 EX #KER() 14.56 4| 8| 1312 /K EZ=() 14.14
W fuhng B R 7% butq I
5 6| 6498 Tk % (2 14.57 5/ 7 5922 EA #KX(2) 14.85
vINUNZ| ERIEE 144 Ya9h =i
6| 9 7384 =) 14.62 6 4 8901 W& JhE (1) 14.99
W Y1y JRH v 1997 194 =H
7 3 8193 k& EB:(1) 14. 67 7 3 7968 S &t FEXER(2) 15. 51
1197 Y3914 =H 1347 +59° A9 =¥
8| 2| 2337 &£#H Bmx() 15.22 8| 6 8192 #{# B\BE() 15. 81
htd W IF 774 14V =H
9 4| 5368|/NH FHER (1) 15.30 9 2 8908 {FiE F1 (1) 16. 95
MF b B Lk L b 22N =H
[ 25%A] RELE +1.1 [ 26481 ®ELE +0.2
JE| b-¥ | No. K £ E& ik = | IE L-» No. K £ E& ek EE
1 4, 5927 =A FE () 14.29 1 8 5923 {kiE AE (2) 14.07
H4Y £ b =i b9 nrb =iE
2 3 8021 E+JIl EF(N) 15.18 2 7 8020 EHE EFiH () 14.58
187 b Hif vk ¥ Hif
3| 6] 7971 RIE BN () 15.37 3| 9 8190 &% ®A() 14.89
AN I42f =¥ T 194 =H
4 2 8322 R k(1) 15. 64 4| 2| 6630 WA J|A (1) 14.96
Ny 47 % a1l Eh VLT 34RF Z34
5/ 7| 6779 BT R#Q) 15.83 5| 3] 8906 /KEr ¥AAER(1) 15.27
7Y I Ak de=d il I3/ #h4m9 =H
6| 8 8740 P&£EME KFEQ) 18.42 6 6] 7607 2 £ (2) 15.56
NZ198 a9af ZEH S VIPHY R
5 T219|EHE XK#h(1) 7 4 6825 BFHE &K (1) 15.84
Y158 4 EE DNS ¥ 9% BE
9 6770 FxH BEM) 5 8274 FE FKER(1)
734 19 de=#l DNS VB8 47 19509 Ba o iREK DNS




BF

100m

[ 27481 RE +0.2 [ 28481 Mm% +0.9
JE V-] No. K 4 -k 08k EE | [IE L-»| No. K 4 -k &k RE
1 2 4135 HE BF @2 13. 21 1] 8 8135 =& i\ (3) 13.16
Th' 7 a9n” AL Y b FIBEER
2| 5 8123|XiEkE = () 13.97 2] 6] 4402[4BF RKA () 13. 61
nng by FEAREER #9734 a3 ELES:
3] 3] 8120/481% X (2) 14.43 3| 9] 8230[FER Hest (1) 14.03
Ny 195" 4 RIREER TAT A% Dt
4 7 6291 it BE(2) 15.38 4 2 4405 L@ fRAER(1) 14.16
14 19% AEHE Y397 Yvh09 ELES:
50 4] 8774M EAX () 15.70 5/ 3] 8233|[®M@E #EE (1) 14.16
49F 194 ELES: N8 DR ik
6 9 8022/%&:E H&() 15. 86 6| 1] 5761|F1L BEIE(2) 14.20
=49 W = YN N 71
70 8 7223 =8 KZ=(1) 15.87 70 5 8239 mO :HEE() 14.33
HYR V] EE 4 F bt ik
6/ 7212 B+ # () 8 4] 5366 LA TEAER() 15. 56
41h 19 =13 DNS 34" 24m9 B LA
9 7 8231|&EiIk EAX) 16.10
94h b Dt




2L LL—A
UIEHE] No. KE & R E AT iR & (B & #0 [IE 6]
1] 4572|@Erh E&%# (2) 5 H .63 (+2.7) 1
2] 5420[F L EKX Q) 12 4 fif] .64 (+0.7) 2
3] 7053[FE & (3) ABET .65 (+2.7) 2
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